	Item ID Number: 30000000

	Directions: Look at the number sentences.

	Passage or Graphic: 3 + 1 = 4

                                   1 + 3 = 4

                                   4 – 1 = 3



	Stem: Which fact is missing?

	Option 1. 4 – 3 = 1

	Option 2. 4 + 3 = 7

	Option 3. 4 – 1 = 2

	Option 4. 3 + 2 = 5

	Option 5. 3 + 4 = 7

	Key: A

	RIT Range: 160   Goal 1.1.6

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Grade Level 3; Abacus 22

	Item Entry Complete: Y


	Item ID Number: 30000010

	Directions: Answer the question.

	Passage or Graphic:
       

	Stem:      5

              -2



	Option 1. 5

	Option 2. 3

	Option 3. 2

	Option 4. 7

	Option 5. 6

	Key: B

	RIT Range: 150  Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Grade levels 1,3; Abacus 18

	Item Entry Complete: Y


	Item ID Number: 30000020

	Directions: 

	Passage or Graphic: 

	Stem: 



	Option 1. 5

	Option 2. 3

	Option 3. 7

	Option 4. 4

	Option 5. 6

	Key: C

	RIT Range: 160   Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.0

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: 297.02.a

	Item Entry Complete: Y


	Item ID Number: 30000030

	Directions: 

	Passage or Graphic: 

	Stem:           3

                    1

                 + 4



	Option 1. 7

	Option 2. 5

	Option 3. 9

	Option 4. 8

	Option 5. 4

	Key: D

	RIT Range: 160  Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30000040

	Directions: 

	Passage or Graphic: 

	Stem:              125

                      + 43



	Option 1. 179

	Option 2. 168

	Option 3. 62

	Option 4. 199

	Option 5. 158

	Key: B

	RIT Range: 165  Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr 3; Abacus 28

	Item Entry Complete: Y


	Item ID Number: 30000050

	Directions: 

	Passage or Graphic: 

	Stem:           12

                    - 5



	Option 1. 5

	Option 2. 8

	Option 3. 6

	Option 4. 7

	Option 5. 17

	Key: D

	RIT Range: 160  Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 1, 3; Abacus 18

	Item Entry Complete: Y


	Item ID Number: 30000060

	Directions: 

	Passage or Graphic: 



	Stem:    3 x 3 = ____

	Option 1. 9

	Option 2. 6

	Option 3. 12

	Option 4. 3

	Option 5. 8

	Key: A

	RIT Range: 160  Goal 1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 5

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 3; Abacus 20; intro at end of gr 2

	Item Entry Complete: Y


	Item ID Number: 30000070

	Directions: 

	Passage or Graphic: 

	Stem: 



	Option 1. 10

	Option 2. 3

	Option 3. 2

	Option 4. 4

	Option 5. 5

	Key: C

	RIT Range: 170  Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30000080

	Directions: 

	Passage or Graphic: 

	Stem:      63

            + 34



	Option 1. 37

	Option 2. 97

	Option 3. 71

	Option 4. 98

	Option 5. 31

	Key: B

	RIT Range: 170  Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Grade level 3, Abacus 28; Grade level 2, Abacus 35

	Item Entry Complete: Y


	Item ID Number: 30000090

	Directions: 

	Passage or Graphic: 

	Stem:   26

           -  5



	Option 1. 31

	Option 2. 11

	Option 3. 20

	Option 4. 32

	Option 5. 21

	Key: E

	RIT Range: 170  Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 3, Abacus 29; Gr level 2; Abacus 37

	Item Entry Complete: Y


	Item ID Number: 30000100

	Directions: 

	Passage or Graphic: 

	Stem:  99

          -56



	Option 1. 34

	Option 2. 155

	Option 3. 53

	Option 4. 43

	Option 5. 42

	Key: D

	RIT Range: 170  Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30000110

	Directions: 

	Passage or Graphic: Susan read 6 books.

	Stem: If she reads 3 more books, how many books will she read in all?

	Option 1. 9

	Option 2. 3

	Option 3. 12

	Option 4. 6

	Option 5. 8

	Key: A

	RIT Range: 170  Goal 1.1.6

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 5

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 2, Abacus 77; Gr level 3, Abacus 90

	Item Entry Complete: Y


	Item ID Number: 30000120

	Directions: 

	Passage or Graphic: 

	Stem:    834

             - 22



	Option 1. 816

	Option 2. 856

	Option 3. 712

	Option 4. 756

	Option 5. 812

	Key: E

	RIT Range: 170  Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 6

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 3, Abacus 29; Gr level 2, Abacus 37

	Item Entry Complete: Y


	Item ID Number: 30000130

	Directions: 

	Passage or Graphic: 

	Stem:   $5.25

          -   3.14



	Option 1. $1.21

	Option 2. $2.11

	Option 3. $8.39

	Option D. $2.39

	Option 5. $4.31

	Key: B

	RIT Range: 170  Goal 1.3.7

	Copyright Information: 

	Idaho Content Alignment: 297.02.d

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30000140

	Directions: 

	Passage or Graphic: Juan had 24 crayons. He lost 10 of them. 

	Stem: How many crayons does Juan have now?

	Option 1. 34

	Option 2. 23

	Option 3. 14

	Option 4. 18

	Option 5. 10

	Key: C

	RIT Range: 180 Goal 1.1.6

	Copyright Information: 

	Idaho Content Alignment: 297.02.f

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 3, Abacus 90

	Item Entry Complete: Y


	Item ID Number: 30000150

	Directions: 

	Passage or Graphic: 

	Stem:   36

          +  8



	Option 1. 45

	Option 2. 32

	Option 3. 28

	Option 4. 44

	Option 5. 34

	Key: D

	RIT Range: 180  Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 3, Abacus 28

	Item Entry Complete: Y


	Item ID Number: 30000160

	Directions: 

	Passage or Graphic: 

	Stem:   321

           + 49



	Option 1. 360

	Option 2. 368

	Option 3. 378

	Option 4. 328

	Option 5. 370

	Key: E

	RIT Range: 180 Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 2, Abacus 35

	Item Entry Complete: Y


	Item ID Number: 30000170

	Directions: 

	Passage or Graphic: 

	Stem:   78

           - 39



	Option 1. 39

	Option 2. 41

	Option 3. 31

	Option 4. 27

	Option 5. 47

	Key: A

	RIT Range: 180  Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 1

	Idaho Falls Content Alignment: Gr level 3, Abacus 29; Gr level 2, Abacus 37

	Item Entry Complete: Y


	Item ID Number: 30000180

	Directions: Look at the picture below.

	Passage or Graphic: 



	Stem: Choose the number sentence below that matches the picture.

	Option A. 4 x 6

	Option B. 6 + 4

	Option C. 4 x 24

	Option D. 24 + 4

	Option E. 24 - 6

	Key: A

	RIT Range: 180  Goal 1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 5

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4 #22 or #197

	Item Entry Complete: Y


	Item ID Number: 30000190

	Directions: 

	Passage or Graphic: 

	Stem:   7546

          + 4872



	Option A. 12,428

	Option B. 12,418

	Option C. 12,318

	Option D. 141,418

	Option E. 12,412

	Key: B

	RIT Range: 180 Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 6

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 3, #28

	Item Entry Complete: Y


	Item ID Number: 30000200

	Directions: 

	Passage or Graphic: 

	Stem:   23

           x 3



	Option A. 56

	Option B. 66

	Option C. 69

	Option D. 59

	Option E. 68

	Key: C

	RIT Range: 180 Goal 1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 7

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #36

	Item Entry Complete: Y


	Item ID Number: 30000210

	Directions: 

	Passage or Graphic: 

	Stem:   46

          x  2


	Option A. 68

	Option B. 102

	Option C. 82

	Option D. 92

	Option E. 101

	Key: D

	RIT Range: 180 Goal 1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 8

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #36

	Item Entry Complete: Y


	Item ID Number: 30000220

	Directions:  View the equation below.

	Passage or Graphic: 

	Stem: 7 + 2 = 2 + ___

	Option A. 5

	Option B. 9

	Option C. 2

	Option D. 11

	Option E. 7

	Key: E

	RIT Range: 180  Goal 7.8.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.g

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 9

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: “IF = 7+ - Check this – unsure on entry form”

	Item Entry Complete: Y


	Item ID Number: 30000230

	Directions: 

	Passage or Graphic:     

	Stem:  
[image: image1.wmf]
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52



	Option A. 8 R4

	Option B. 9 R2

	Option C. 7 R4

	Option D. 8 R3

	Option E. 7 R10

	Key: A

	RIT Range: 185  Goal 1.1.4

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 10

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #37

	Item Entry Complete: Y


	Item ID Number: 30000240

	Directions: 

	Passage or Graphic: 

	Stem: Round 68 to the nearest ten’s place.

	Option A. 78

	Option B. 70 

	Option C. 60

	Option D. 80 

	Option E. 100

	Key: B

	RIT Range: 180 Goal 2.20

	Copyright Information: 

	Idaho Content Alignment: 297.03.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 11

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #92

	Item Entry Complete: Y


	Item ID Number: 30000250

	Directions: 

	Passage or Graphic: 

	Stem:   243

           x 15



	Option A. 1,458

	Option B. 5,645

	Option C. 3,645

	Option D. 3,635

	Option E. 3,545

	Key: C

	RIT Range: 180 Goal 1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 12

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #36

	Item Entry Complete: Y


	Item ID Number: 30000260

	Directions: 

	Passage or Graphic: 

	Stem:  
[image: image4.wmf]5
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	Option A. 
[image: image5.wmf]5

3



	Option B. 
[image: image6.wmf]25

3



	Option C. 
[image: image7.wmf]10

4



	Option D. 
[image: image8.wmf]5

4



	Option E. 
[image: image9.wmf]5
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	Key: D

	RIT Range: 180 Goal 1.2.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.c

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #53

	Item Entry Complete: Y


	Item ID Number: 30000270

	Directions: 

	Passage or Graphic: 

	Stem:   6.24

         + 2.53



	Option A. 877

	Option B. 8.78

	Option C. 8.87

	Option D. 87.7

	Option E. 8.77

	Key: E

	RIT Range: 180 Goal 1.3.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.d

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #28

	Item Entry Complete: Y


	Item ID Number: 30000280

	Directions: 

	Passage or Graphic: 

	Stem:  463

          -  35



	Option A. 428

	Option B. 438

	Option C. 498

	Option D. 432

	Option E. 422

	Key: A

	RIT Range: 190 Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #29

	Item Entry Complete: Y


	Item ID Number: 30000290

	Directions: 

	Passage or Graphic:  4 x 6 = 24

	Stem: Choose the related division fact.

	Option A. 24 ( 6 = 3

	Option B. 24 ( 4 = 6

	Option C. 6 ( 24 = 4

	Option D. 12 ( 6 = 2

	Option E. 4 (24 = 6

	Key: B

	RIT Range: 190 Goal 1.1.4

	Copyright Information: 

	Idaho Content Alignment: 297.02

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #23

	Item Entry Complete: Y


	Item ID Number: 30000300

	Directions: Look at the picture below.

	Passage or Graphic: 




	Stem: Identify the division fact shown in the picture.

	Option A. 5 (15 = 3

	Option B. 5 x 3 = 15

	Option C. 15 ( 3 = 5

	Option D. 3 ( 15=5

	Option E. 3 x 5 = 15

	Key: C

	RIT Range: 190 Goal 1.1.6

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: Gr 4, #22

	Item Entry Complete: Y


	Item ID Number: 30000310

	Directions: 

	Passage or Graphic: 

	Stem:     2,603

            - 1,325



	Option A. 1,322

	Option B. 1,288

	Option C. 1,378

	Option D. 1,278

	Option E. 3,928

	Key: D

	RIT Range: 190  Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #29

	Item Entry Complete: Y


	Item ID Number: 30000320

	Directions: 

	Passage or Graphic: 

	Stem:    30

            x 3


	Option A. 93

	Option B. 60

	Option C. 80

	Option D. 63

	Option E. 90

	Key: E

	RIT Range: 190  Goal 1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.f

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 5

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #22

	Item Entry Complete: Y


	Item ID Number: 30000330

	Directions: 

	Passage or Graphic: 

	Stem:   205

           x   3


	Option A. 615

	Option B. 505

	Option C. 635

	Option D. 651

	Option E. 6015

	Key: A

	RIT Range: 190 Goal 1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 6

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #35

	Item Entry Complete: Y


	Item ID Number: 30000340

	Directions: 

	Passage or Graphic: 

	Stem:   3 x 5 x 4 = _____

	Option A. 15

	Option B. 60

	Option C. 63

	Option D. 19

	Option E. 20

	Key: B

	RIT Range: 190 Goal  1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 7

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30000350

	Directions: Identify the division fact related to the following:

	Passage or Graphic: 

	Stem: 7 x 4 = 28

	Option A. 28 ( 7 = 3

	Option B. 4 ( 28 = 7

	Option C. 28 ( 7 = 4

	Option D. 35 ( 7 = 5

	Option E. 7 ( 28 = 4

	Key: C

	RIT Range: 190  Goal 1.1.6

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 8

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 # 23

	Item Entry Complete: Y


	Item ID Number: 30000360

	Directions: 

	Passage or Graphic: 

	Stem:  
[image: image10.wmf]30
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	Option A. 6

	Option B. 36

	Option C. 4

	Option D. 5

	Option E. 24

	Key: D

	RIT Range: 190  Goal 1.1.4

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 9

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #37

	Item Entry Complete: Y


	Item ID Number: 30000370

	Directions: Read the following and answer the question.

	Passage or Graphic: A girl had 21 oranges to put into sacks. She put all of the oranges into 3 sacks. Each sack had the same number of oranges. 

	Stem: How many oranges went into each sack?

	Option A. 8

	Option B. 24

	Option C. 6

	Option D. 18

	Option E. 7

	Key: E

	RIT Range: 190 Goal 1.1.6

	Copyright Information: 

	Idaho Content Alignment: 298.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 10

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #102

	Item Entry Complete: Y


	Item ID Number: 30000380

	Directions: 

	Passage or Graphic: 

	Stem:   264

              24

            156

         + 305


	Option A. 749

	Option B. 739

	Option C. 744

	Option D. 649

	Option E. 1019

	Key: A

	RIT Range: 190 Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 11

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #28

	Item Entry Complete: Y


	Item ID Number: 30000390

	Directions: 

	Passage or Graphic: 

	Stem:    4,526

           - 2,718


	Option A. 1,818

	Option B. 1,808

	Option C. 5,244

	Option D. 2,808

	Option E. 2,212

	Key: B

	RIT Range: 190 Goal 1.1.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 12

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 # 29

	Item Entry Complete: Y


	Item ID Number: 30000400

	Directions: 

	Passage or Graphic: 

	Stem:   
[image: image11.wmf]320
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	Option A. 60

	Option B. 76

	Option C. 64

	Option D. 144

	Option E. 514

	Key: C

	RIT Range: 190 Goal 1.1.4

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 13

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #37

	Item Entry Complete: Y


	Item ID Number: 30000410

	Directions: 

	Passage or Graphic: 

	Stem:   
[image: image12.wmf]70
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	Option A. 70

	Option B. 8

	Option C. 17

	Option D. 7

	Option E. 6

	Key: D

	RIT Range: 190 Goal 1.1.4

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 14

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 5 # 15

	Item Entry Complete: Y


	Item ID Number: 30000420

	Directions: 

	Passage or Graphic: 

	Stem:   245

          1,462

         +  210


	Option A. 1,817

	Option B. 817

	Option C. 1,915

	Option D. 915

	Option E. 1,917

	Key: E

	RIT Range: 190 Goal 1.1.1

	Copyright Information: 

	Idaho Content Alignment: 297.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 15

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #28

	Item Entry Complete: Y


	Item ID Number: 30000430

	Directions: 

	Passage or Graphic: 

	Stem:   207 x 24 = _____

	Option A. 4,968

	Option B. 5,128

	Option C. 1,242

	Option D. 1,228

	Option E. 4,148

	Key: A

	RIT Range: 190 Goal 1.1.3

	Copyright Information: 

	Idaho Content Alignment: 297.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 16

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #35

	Item Entry Complete: Y


	Item ID Number: 30000440

	Directions: Use the picture below to answer the question.

	Passage or Graphic: 



	Stem: Identify the fraction of the shaded part.

	Option A. 4
                 2

	Option B. 4
                 6

	Option C. 6
                 4

	Option D. 2
                 4

	Option E. 2
                 6

	Key: B

	RIT Range: 190 Goal 2.2.3

	Copyright Information: 

	Idaho Content Alignment: 297.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #44

	Item Entry Complete: Y


	Item ID Number: 30000450

	Directions: 

	Passage or Graphic: 

	Stem:  
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	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key: C

	RIT Range: 190 Goal 1.2.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.c

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions
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	Stem:  56.72 – 7.43 =

	Option A. 49.29

	Option B. 51.29

	Option C. 49.39

	Option D. 51.31

	Option E. 4929

	Key: A

	RIT Range: 190 Goal 1.3.2

	Copyright Information: 

	Idaho Content Alignment: 297.02.d

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 2

	Idaho Falls Content Alignment: IF Gr 4 #29

	Item Entry Complete: Y


	Item ID Number: 30000490

	Directions: 

	Passage or Graphic: 

	Stem:   17.32

             x    4



	Option A. 6928

	Option B. 4828

	Option C. 17.36

	Option D. 69.28

	Option E. 692.8

	Key: D

	RIT Range: 190 Goal 1.3.3

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 3

	Idaho Falls Content Alignment: IF 5 #42

	Item Entry Complete: Y


	Item ID Number: 30000500
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	Item ID Number: 30000510

	Directions: 

	Passage or Graphic: A person bought 33 apples and 14 pears at a store.

	Stem: How many items did the person buy at the store?

	Option A. 33

	Option B. 47

	Option C. 57

	Option D. 19

	Option E. 46
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	Item ID Number: 30000520

	Directions: Look at the pattern and answer the question.

	Passage or Graphic: 5, 11, 17, 23, 29, 35, 41, 47, ___

	Stem: Which number would come next in the pattern?

	Option A. 47

	Option B. 5

	Option C. 49
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	Directions: 

	Passage or Graphic: 

	Stem: (7 + 2) + 3 = 7 + (2 +      )  
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	Item ID Number: 30000540

	Directions: 

	Passage or Graphic: 

	Stem: Which equation illustrates the commutative property of addition?

	Option A. 3 + 2 + 1 = 6

	Option B. 3 + 2 + 1 = 1 + 3 + 2
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	Key: B
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	Item ID Number: 30000550

	Directions: 

	Passage or Graphic: Lisa threw 5 balls at a target. She picked up the balls and threw each of them at the target again. She hit the target every time she threw the ball.

	Stem: How many times did Lisa hit the target?

	Option A. 5

	Option B. 10

	Option C. 2
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	Item ID Number: 30000560

	Directions: 

	Passage or Graphic: 

	Stem:   27,049

          - 13,927


	Option A. 13,132
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	Option C. 14,922

	Option D. 13,122
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	Item ID Number: 30000570

	Directions: 

	Passage or Graphic: Round the following number to the nearest hundred:

	Stem: 43,362

	Option A. 43,400

	Option B. 43,362
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	Item ID Number: 30000580

	Directions: 

	Passage or Graphic: 

	Stem: 23 x 13 = ____
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	Item ID Number: 30000590

	Directions: 

	Passage or Graphic: 
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	Directions: 

	Passage or Graphic: 
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	Option A. 2,243

	Option B. 13,785
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	Passage or Graphic: 

	Stem:  729 x 56 =
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	Passage or Graphic: 
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	Item ID Number: 30000630

	Directions: 

	Passage or Graphic: 

	Stem: Which of these fractions is equal to 1?
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	Stem: Which fraction correctly names the above picture?
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	Item ID Number: 30000660

	Directions: Add the following and answer in lowest terms.
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	Directions: 

	Passage or Graphic: 

	Stem:  1,403.2 + 96.71 = ____
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	Passage or Graphic: 
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	Passage or Graphic: 

	Stem:  Round 23.427 to the nearest whole number.
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	Item ID Number: 30000710

	Directions: 

	Passage or Graphic: 

	Stem:  297.456 + 13.822 = _____
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	Item ID Number: 30000720
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	Passage or Graphic: 
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          - 129.78
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	Directions: 

	Passage or Graphic: 
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	Item ID Number: 30000740

	Directions: 

	Passage or Graphic: 
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	Passage or Graphic: 



	Stem: Which number sentence does the diagram represent?
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	Item ID Number: 30000770

	Directions: 

	Passage or Graphic: 

	Stem:   
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	Item ID Number: 30000780

	Directions: 
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	Directions: 

	Passage or Graphic: 

	Stem: 641 ( 27 = _____
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	Item ID Number: 30000820

	Directions: Add and put in simplest form.
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	Option A. 1804

	Option B. 4412.65

	Option C. 4412.35

	Option D. 6674

	Option E. 7074

	Key: B

	RIT Range: 221  Goal 1.3.2

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001270

	Directions: Choose the number sentence that best relates to the problem. You do NOT need to calculate.

	Passage or Graphic: The seventh and eighth graders at Midville Middle School held a fund raiser. The seventh graders raised $526.34 and the eighth graders raised $601.87.

	Stem: How much more money did the eighth graders raise than the seventh graders?

	Option A. $601.87 + $526.34 = ____

	Option B. $526.35 + $601.87 = ____

	Option C. $526.34 - $601.87 = ____

	Option D. $601.87 - $526.34 = ____

	Option E. $70.00

	Key: D

	RIT Range: 215  Goal 1.1.6

	Copyright Information: 

	Idaho Content Alignment: 340.01.b; 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001280

	Directions: 

	Passage or Graphic: 

	Stem: Convert 
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 to a decimal.

	Option A. 0.652

	Option B. 0.8

	Option C. 0.5

	Option D. 0.58

	Option E. 0.625

	Key: E

	RIT Range: 221 Goal 2.14

	Copyright Information: 

	Idaho Content Alignment: 337.02.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


Change wording
	Item ID Number: 30001290

	Directions

	Passage or Graphic: 

	Stem: 0.862 – 0.34967 = 

	Option A. 0.51267

	Option B. 0.34105

	Option C. 0.51233

	Option D. 1.21167

	Option E. 0.63493

	Key: C

	RIT Range: 230  Goal 1.3.2

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 5

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001300

	Directions: 

	Passage or Graphic: 

	Stem: 3.627 x 100 = 

	Option A. 0.03627

	Option B. 0.3627

	Option C. 36.27

	Option D. 362.7

	Option E. 3627

	Key: D

	RIT Range: 221  Goal 1.3.3

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 6

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001310

	Directions: 

	Passage or Graphic: 

	Stem: 30 ( 0.003 = 

	Option A. 0.001

	Option B. 0.1

	Option C. 10

	Option D. 100

	Option E. 10,000

	Key: E

	RIT Range: 230  Goal 1.3.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 7

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001320

	Directions: 

	Passage or Graphic: 

	Stem: -240 ( (-6) = ____

	Option A. 4

	Option B. 40

	Option C. –40

	Option D. –4

	Option E. 400

	Key: B

	RIT Range: 230 Goal 1.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a; 340.01.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001330

	Directions: 

	Passage or Graphic: Bill correctly answered 78 out of 100 problems on his test. 

	Stem: What percent did he get correct?

	Option A. 78 %

	Option B. 22 %

	Option C. 7.8 %

	Option D. 70 %

	Option E. .78 %

	Key: A

	RIT Range: 215  Goal 1.5

	Copyright Information: 

	Idaho Content Alignment: 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Percent

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001340

	Directions: 

	Passage or Graphic: 

	Stem: 15 is what percent of 60?

	Option A. 9 %

	Option B. 15 %

	Option C. 60 %

	Option D. 25 %

	Option E. 4 %

	Key: D

	RIT Range: 221  Goal 1.5

	Copyright Information: 

	Idaho Content Alignment: 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Percent

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001350

	Directions: 

	Passage or Graphic: 

	Stem: 10 is 50% of what number?

	Option A. 5

	Option B. 100

	Option C. 50

	Option D. 20

	Option E. 200

	Key: D

	RIT Range: 221  Goal 1.5

	Copyright Information: 

	Idaho Content Alignment: 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Percent

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001360

	Directions: 

	Passage or Graphic: 

	Stem: 756 (8 = _____

	Option A. 94

	Option B. 94 R2

	Option C. 92

	Option D. 100 R7

	Option E. 94 R4

	Key: E

	RIT Range: 220  Goal 1.1.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001370

	Directions: 

	Passage or Graphic: 

	Stem: 1,468,560 ( 422 = _____

	Option A. 4000

	Option B. 4250

	Option C. 3480

	Option D. 3580

	Option E. 4260

	Key: C

	RIT Range: 231  Goal 1.1.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Whole Numbers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 5

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001380

	Directions: Reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option E. 
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	Key:  D

	RIT Range: 225  Goal 1.2.1

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001390

	Directions: Reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option B. 
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	Option D. 
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	Option E. 
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	Key: B

	RIT Range: 225  Goal 1.2.2

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001400

	Directions: Reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option C. 
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	Option D. 11

	Option E. 
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	Key: C

	RIT Range: 225  Goal 1.2.2

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001410

	Directions: Reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem:  
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	Option A. 
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	Option D. 
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	Option E. 
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	Key: E

	RIT Range: 225  Goal 1.2.1

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001420

	Directions: Reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 11

	Key: A

	RIT Range: 225  Goal 1.2.1

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 5

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001430

	Directions: Reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option D. 
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	Option E. 
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	Key: B

	RIT Range: 225  Goal 1.2.3

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 6

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001440

	Directions: Multiply and reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option E. 
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	Key: D

	RIT Range: 231  Goal 1.2.3

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 7

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001450

	Directions: Divide and reduce to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
[image: image214.wmf]3

8



	Option B. 
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	Option D. 
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	Option E. 
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	Key: B

	RIT Range: 231  Goal 1.2.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 8

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001460

	Directions: Reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option E. 
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	Key: E

	RIT Range: 231 Goal 1.2.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 9

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001470

	Directions: Multiply and reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option E. 
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	Key: C

	RIT Range: 231  Goal 1.2.3

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 10

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001480

	Directions: Reduce your answer to lowest terms.

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option B. 
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	Key: B

	RIT Range: 231 goal 1.2.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 11

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001490

	Directions: 

	Passage or Graphic: 

	Stem: 4536.6 + 325.25 = ____

	Option A. 7789.1

	Option B. 4861.85

	Option C. 111.35

	Option D. 4876.85

	Option E. 7781.85

	Key: B

	RIT Range: 231 Goal 1.3.1

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001500

	Directions: 

	Passage or Graphic: 

	Stem: 57.2 – 3.08 = ____

	Option A. 60.28

	Option B. 26.4

	Option C. 54.12

	Option D. 54.28

	Option E. 60.34

	Key: C

	RIT Range:  225  Goal 1.3.2

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001510

	Directions: 

	Passage or Graphic: 

	Stem: 46.236 – 34.89 = ____

	Option A. 12.119

	Option B. 49.725

	Option C. 80.102

	Option D. 30.86

	Option E. 11.346

	Key: E

	RIT Range: 231 Goal 1.3.2

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001520

	Directions: 

	Passage or Graphic: 

	Stem: 17 – 2.8 = ____

	Option A. 15.8

	Option B. 14.8

	Option C. 14.2

	Option D. 1.9

	Option E. 19.8

	Key: C

	RIT Range: 231 Goal 1.3.2

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001530

	Directions: 

	Passage or Graphic: 

	Stem: (0.003)(0.126) = ____

	Option A. 0.378

	Option B. 0.0378

	Option C. 0.00378

	Option D. 0.000378

	Option E. 378,000

	Key: D

	RIT Range: 231 Goal 1.3.3

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 5

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001540

	Directions: 

	Passage or Graphic: 

	Stem: 32.46 ( 3 = ____

	Option A. 1.82

	Option B. 182

	Option C. 1082

	Option D. 0.182

	Option E. 10.82

	Key: E

	RIT Range: 231 Goal 1.3.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 6

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001550

	Directions: 

	Passage or Graphic: 

	Stem: 84 ( 0.21 = ___

	Option A. 4

	Option B. 40

	Option C. 400

	Option D. 0.04

	Option E. 0.4

	Key: C

	RIT Range: 231 Goal 1.3.4

	Copyright Information: 

	Idaho Content Alignment: 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Decimals

	Learning Cont. Bullet #: 7

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001560

	Directions: 

	Passage or Graphic: 

	Stem: -278 + 36 = ____

	Option A. –242

	Option B. 242

	Option C. 314

	Option D. 238

	Option E. -314

	Key: E

	RIT Range: 231 Goal 1.4

	Copyright Information: 

	Idaho Content Alignment: 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001570

	Directions: 

	Passage or Graphic: 

	Stem: - 8 + 4 + (-2) + 3 = ____

	Option A. –17

	Option B. –4

	Option C. –3

	Option D. 15

	Option E. 3

	Key: C

	RIT Range: 231 Goal 1.4

	Copyright Information: 

	Idaho Content Alignment: 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001580

	Directions: Multiply.

	Passage or Graphic: 

	Stem: (-8)(-4) = ___

	Option A. –36

	Option B. 32

	Option C. 12

	Option D. –32

	Option E. 4

	Key: B

	RIT Range: 231 Goal 1.4

	Copyright Information: 

	Idaho Content Alignment: 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 3

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001590

	Directions: Divide.

	Passage or Graphic: 

	Stem: -180 ( (-60) = ___

	Option A. –3

	Option B. –30

	Option C. 3

	Option D. –36

	Option E. 30

	Key: C

	RIT Range: 231 Goal 1.4

	Copyright Information: 

	Idaho Content Alignment: 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 4

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001600

	Directions: 

	Passage or Graphic: 

	Stem: 30 is what percent of 15?

	Option A. 45%

	Option B. 50 %

	Option C. 200 %

	Option D. 20 %

	Option E. 100 %

	Key: C

	RIT Range: 231 Goal 1.5

	Copyright Information: 

	Idaho Content Alignment: 

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Percents

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001610

	Directions: 

	Passage or Graphic: 

	Stem: 40 is 50 % of what number?

	Option A. 20

	Option B. 10

	Option C. 100

	Option D. 200

	Option E. 80

	Key: E

	RIT Range: 231 Goal 1.5

	Copyright Information: 

	Idaho Content Alignment: 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Percents

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001620

	Directions: 

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Key: B

	RIT Range: 230  Goal 1.2.3

	Copyright Information: 

	Idaho Content Alignment: 337.02.a; 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001630

	Directions: Put the following integers in order from least to greatest.

	Passage or Graphic: 

	Stem: -4, 3, -2, 0, 2

	Option A. 0, -2, 2, 3, -4

	Option B. –2, -4, 0, 2, 3

	Option C. 3, 2, 0, -2, -4

	Option D. –4, -2, 0, 2, 3

	Option E. –4, 3, 2, -2, 0

	Key: D

	RIT Range: 230  Goal 2.12

	Copyright Information: 

	Idaho Content Alignment: 337.01.a; 347.01.a; 347.01.b

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001640

	Directions: 

	Passage or Graphic: 

	Stem: -5 – (-9) = ___

	Option A. 4

	Option B. 14

	Option C. –4

	Option D. -14

	Option E. -45

	Key: A

	RIT Range: 230  Goal 1.4

	Copyright Information: 

	Idaho Content Alignment: 337.01.a; 337.01.b; 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001650

	Directions: Solve for x

	Passage or Graphic: 

	Stem: 
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	Option A. 2

	Option B. –2

	Option C. 1

	Option D. 4

	Option E. -8

	Key: A

	RIT Range: 240  Goal 7.1

	Copyright Information: 

	Idaho Content Alignment: 340.03.a; 350.03.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 6

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001660

	Directions: Evaluate

	Passage or Graphic: 

	Stem: 3[6-2(7-32)2]

	Option A. –6

	Option B. 42

	Option C. –78

	Option D. 48

	Option E. -14

	Key: A

	RIT Range: 251  Goal 7.7

	Copyright Information: 

	Idaho Content Alignment: 347.02.a; 337.02.c

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Integers

	Learning Cont. Bullet #: 2

	Learning Cont. Page #: 7

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001670

	Directions: 

	Passage or Graphic: 

	Stem: 
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	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key: A

	RIT Range: 250  Goal 1.2.2

	Copyright Information: 

	Idaho Content Alignment: 347.02.a; 337.02.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 7

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001680

	Directions: Find the final cost to the employee.

	Passage or Graphic: 

	Stem:  Original price:        $129.00

            Employee discount: 20 %

            Sale discount:           30 %

            Sales tax:                    5 %

	Option A. $75.85

	Option B. $70.95

	Option C. $68.63

	Option D. $67.72

	Option E. $61.28

	Key: A

	RIT Range: 261  Goal 8.2.2

	Copyright Information: 

	Idaho Content Alignment: 338.01.a; 348.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Percent

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 7

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y


	Item ID Number: 30001690

	Directions: 

	Passage or Graphic: 

	Stem:  
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	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key: A

	RIT Range: 270  Goal 1.2.3

	Copyright Information: 

	Idaho Content Alignment: 337.02.a; 347.01.a

	Learning Cont. Goal: Computation

	Learning Cont. Subgoal: Fractions

	Learning Cont. Bullet #: 1

	Learning Cont. Page #: 7

	Idaho Falls Content Alignment: “None”

	Item Entry Complete: Y
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